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EEAE

PUHR & 3 &1 3R Q UhR o 6 oct; fasior 1 =9 goI = Rs 1950
a9 i1 <A JeF Rs 112 (959 X 1 2 kg T4 959 Y T 4 kg).

g AUt o 40 feshe qen AR 9ot & 160 feshe; sifasran @9 = Rs 136000.
AT : 10,50 3R40 SHEAT BH : 50, 0 3 0 3= HH9: D, E SRF 1 &<t <t
% @1 =99 god =Rs 510

A ¥ :500,3000 31X 3500 &fteT; B ¥: 4000, 0 31X 0 & et H9: D, E 31 F el
ISt STt ® e =FAH goF = Rs 4400

PR & 40 91 3R Q YR ok 100 c; SIS k1 =[AaH T = 470 kg.
PR o 140 9t 3R Q WhR o 50 Uit; AIESISH hi Aferehad AGN = 595 kg,
A TR 1 800 Tfeal 3R B YR w1 400 TfEal; sifushad @19 = Rs 16000

| womrarett 13.1 |

16

P(EIF) =3, P(FIE)= 2. p(ap)=10

1
3
() 032 (i) 0.64 (iii) 0.98
11
26

.4 ..
@) ﬁ (i1) (ii1)

[N W N

1 .
) (i)
@ 1 (i)

(iii)

S Qlw uls

1 1
9. 1 0. @3 B3

(ii) (iii)

2

AW
N

W | N

S

N | —
W | —
N | —



12.

14.

11.

12.

14.
17.

13.

STATHTAT 625

1 o1
(1) 5 (i) 3 13. 9
L 15. 0 16. C 17. D
15 ' ' '

| woTaett 13.2 |
3 5 25 3 fnd
25 © 102 " 91
A 3R B WER @aT ¢ 5. A 3R B WER @ad T8 T
E 3R F 7o) @aa 7 2
D pe 1 . p_l
i P=r5 (i) P=3
G 0.12 (i) 0.58 (i) 0.3 (iv) 0.4
3 . Y
3 10. A 3R B WER =ds 7@l &l
G 018 (i) 0.12 (i) 072 (iv) 0.28
7 1620 40
N P B I |
() 5. 5 SGRC @50 3.0 5
D 18. B

| wwTeret 13.3 |
1 5 2 3 9 4 12
2 3 13 " 13
198 6 4 7 1 8 1
1197 "9 C 5 4
2 T 1, = 12 4
9 11 " 34 " 50
A 14. C
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| wTereht 13.4|
1. (i), (i) 3 (iv) 2. X=0,1,28 3. X=6,4,2,0
4.0 xT ol 1] 2
ol L] LT
QF 31 2|3
| x| of 1| 2] 3
ol L1 3] 2]
X 3] 3] 8|3
giy| X[ ol 1| 2| 3] 4
ol L] L] 3]
XN 6| 2| 3|2 |16
5.0 X o] 1] 2
ol A 4L
S I B
| x| of 1
roo| 2| 4
)| 36| 36
6 X[ o] 1| 2| 3| 4
by 236 256| 96 | 16 1
) 625| 625 | 625| 629| 625
7 X 2
po| —| 2| L
X 76| 16| T6
. 1 ) 3 17
8. (1) k=— i) P(X<3)=— m) P(X>6)=—
(i) 0 i PX<3)=o7 (i) PX>6)=-7

(iv) P(0<X<3)=%



STATHTAT 627

9. (a) k:é (b) P(X<2):%,P(X£2):1,P(X22):1

2
10. 1.5 1, 2 12 2
S 3 3
13. Var(X)=5.833,S.D =2.415
14. X | 15| w617 18] 19] 20 21

e 2 1 2|3 1 21 311
X) 15| 15 15 | 15 15 15 151 15

e = 17.53, Var(X) = 4.78 3R S.D(X) =2.19

15. E(X)=0.7 3R Var (X) = 0.21 16. B 17. D
| woeTerett 13.5 |
L 3 1 6
- (D) 0 (i1) 7 (ii1) 7
, 2 . (2Ye)
" 216 “ 120 )| 20
L 45 28
- Toog 31 (i) 1024
5. () (0.95) (i) (0.95)x 1.2 (i) 1-(0.95) x 1.2
(v) 1-(0.95)
9 1Y’ » »
6 |15 75 [20C,, + 2°Cy +..+ 2°Cy |
g AL
243
(2 1(99)" 1_&(2)“9
10. (@ 100 ® {700 © 700l 100
11, L 5)5 12 3—5(5)4 13 2x5
"~ 12\6 ~ 186 ©10"

14. C 15. A
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12.

15.
17.

37T 13 T fafaer goamact

@ 1

L1
M 3

20

21

2\ 2

() [;) (i 7(;
510

2%6°

31(2Y

15 10.
1238 13
155715 '
(i) 0.5 (i) 0.05
A 18.

(i) 0
L1
(i) 3

r=7

625

23328

n>4

14

29

—_— e —

4 7 6
) (i) 1—(§) (iv)
8.

11.

14.

16.
19.

10
4. 1=-31C,(0.9) (0.1

864
3125

2
7

11
216

16

16
31



